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22. (A/MEW5> 12 43)
(1) B f(x)=(x=2)e"+ax+24, f(0)=0, fi(x)=(x-1)e"+a, = 14
B gx)=(x-1)e" +a, xe[0,+), W g'(x)=xe*=0,
S GO AE[0, 400 ) LGB, oeeereeneees 2 4%
Yazlif, f(0)=-1+a=0, . f'(x)=f(0)=0%f xe [0,+oo ) fHET,
o () LE[0,+00) FEEBR, o f(X) =S (0)=0, FAME; oeeereereereenes 34

La<1dt, f(0)=—1+a<0, x>+, f(x)—=+oo,
B x, >0, i f(x)=0, Mixe (0,x,), f(x)<0, f(x)BHER,
S f(x) < f(0)=0, AEREE.

#ZEb, aBUETEE R [1’.}.00). .................. 543
(2) Hxe (0,400) B, F (1) &(x-2)e"+x+2>0,
.'.x>MXﬂ°—ﬂ3xe (0, +00) fHART, Ephlx>MXﬂ‘—-ij]xe(1,+oo)ﬁﬁjz_\—z’ ...... 7 4%
e +1 x+1
o 1 2(n+l_1j )
$x=—>1, neN*’ I)-I\Ijh]n+ > n = , erereesesessiiie 85}
n n n+1_{_1 2n+1
n
an2>2, mis2, e w2 2
3 2 5 n 2n+l
_-,1n2+ln§+-<-+lnn—+1->g+g+---+ 2 , rereesesseeiiiian. 10 43
2 n 3 5 2n+1
Eﬂln(n+l)>2 l+l+...+ 1 , ~ln /n+1>l+l+...+ 1 O X
35 2n+1 3 5 2n+1
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	关于我们



